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General Instructions :
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(i)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Question Nos. 1 — 4 and 13 — 16 are very short-answer questions carrying

1 mark each. They are required to be answered in one sentence each.

Question Nos. 5 — 6 and 17 — 18 are short-answer questions carrying 3 marks each.

Answers to them should normally not exceed 60 words each.

Question Nos. 7 — 9 and 19 — 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words each.

Question Nos. 10 — 12 and 22 — 24 are long-answer questions carrying 6 marks

each. Answers to them should normally not exceed 100 words each.

Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.



Tug — o (A relurme)
SECTION - A (Micro Economics)

1. fou e fo= o, Seares s @5k W foig A & foig B @9 1 d=em TIiar & |
(Tt T o1 =3a ) 1
T Y
A
B
( > T8 X

(%) rfeaedn ¥ aeft wETe o o |
(@) GEeHT T 3190f SR |

(1) &g X T ATk IcuTe qUT I Y T Y IcITeH |

(F) Y 1 HATh IcdTe AT S X 1 HH ITEH |

In the given figure, the movement on the production possibility curve from point A to

point B shows . (Choose the correct alternative)
Good Y
A
B
0 » Good X
(a) Growth of all the resources in the economy.
(b)  Underutilisation of resources.
(c) Production of more units of Good X and less units of Good Y.
(d) Production of more units of Good Y and less units of Good X.
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2. 3fid fRR ard ok (T2 Torehed =T =T ) 1
| () X-3eT % GHHT S W 2 |
(@) Y-378 % THHI-R Heht @ gt 2 |
(1) FraT g, S 37feeh W i 3eared fohaT S |
() wedl 8, SIo 3Tk AT o1 IcTed foham S |

YAl
fr=ferfaa & & i emrd 6 ToET S % fore B T g wd R 7 (T faehew 1w
)
() MCy =TFC,—-TFCy_;
(@) MCy=ACy-ACy_,
() MCy=AVCy-AVC,
(") MCy=TC,-TCy_;
Average fixed cost curve . (Choose the correct alternative)
(a) 1is a straight line parallel to X-axis.
(b) is straight line parallel to Y-axis.
(c) falls, as more units are produced
(d) rises, as more units are produced

OR
Which of the following formula is correct for calculating marginal cost ?
(Choose the correct alternative)

(a) MCy=TFC,-TFCy_,
(b) MCy=ACy—-ACy_;
(c) MCy=AVCy-AVC,_;
(d MCy=TC,-TCy_;
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3. ATA-frid Hda W, Ea 3G ash BT | (TR ferehew w1 A i) 1
() ‘S’ IATHR HI I
(@) 3 ‘S’ 3HR I Tsh
(M) ‘U’ ATHR I dsh
(F) IeA ‘U’ ITehI hl sk

The average product curve in the input-output plane, will be . (Choose

the correct alternative)

(a) an ‘S’ shaped curve

(b) aninverse ‘S’ shaped curve
(c) a ‘U’ shaped curve

(d) aninverse ‘U’ shaped curve

4. Ife g X <t TSR fd dehrich H LR o HRUT Feaid! &, al SR gfd ash |
(feart T <t qfd L) 1

37T
Ff¢ g X h1 IR gfd el Ieame SRes ht hivd § ghg o SR Sgad! &, dl STeR
fef =k | (T v <1 gfd )

If the market supply of a commodity X changes due to improvement in technology,

the market supply curve will . (Fill up the blank)
OR

If the market supply of a commodity X changes due to rise in price of a factor input,

the market supply curve will . (Fill up the blank)
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5. oraeR i Frfen @ 6 8 s a1 sTe s e weE ) e

| qo feremT L

(i) “vRA foava o o STIR FaT aehieh 23 TREH hl BAM M HL 77 o T
W UEET, T < ANt H Te8 = BAT 8 | — The Economic Times

(i) “THR P SR =i w1 Igriesr 3m ot S8 W= =fge |7 — The Economic
Times

Identify and discuss the nature of the following newspaper reports in terms of
positive or normative economic analysis :

(1) “India jumped 23 points in the World Bank’s ease of doing business index to
77" place, highest in 2 years.” — The Economic Times

(i) “Government should further liberalise the business rules.” — The Economic

Times

6.  TAMI ST qUT b TEG3TT H, IgTeL0T Hlgd ST T H |
T S 3T T e aegat 3, 3 |fed Tt T i |
Distinguish between substitute goods and complementary goods, with examples.

OR

Distinguish between normal goods and inferior goods, with examples.

7 o et s 1 e, i SR T g S % g
Tfered w9 @ Twesy |

JAYAT
Teh SHTeT(eh STTEE 1 T hid §U, FTEHM HHTd foeemo gt i diefed 9 & eS|

Discuss briefly, using a hypothetical schedule, the relation between marginal utility
and total utility.

OR

Discuss briefly, using a hypothetical schedule the concept of diminishing marginal
; rate of substitution.
- 58/1/1 6



8. frmfeifaa wmra ST bt quf & - 4
3T (3hIST H) 0 1 2 | 3| 4
FA AT (X H) 200 | e | e | e 490

et TiEd! AT (3 H) 0 | ... 180 | oo | ..
3Ta it o (3 H) — | 100 | ... 80 | ...

Complete the following cost schedule :

Quantity (in Units) 0 1 2 3 4
Total cost (in %) 200 | o ] e | e 490
Total variable cost (in ) 0 | .. 180 | coco. | ...

Average variable cost (in %) — 100 | ... 80 | ...

9. feumu fe 4, OP sTeiR fifd HHd & dem OP, §ehR g HHiia i & |

3

Himq (7H)

WTAT (3T )
(%) vgaH T e gan fom, S=raw Sima fetftor sreren feraw hima fatwor i gurtar

gl
(@) 39 feufa 3 IR & gurfad saagr s samen i | 1,3)
e
AT i fob weh ot wfcrrmft semr & aeg X o et =i & qfd aviesr frfafad 2 -
Qg = 1700 — 2P

Q, = 1300 + 3P

| %] X °hl T shiFd aUT Fqer | hi TUMET iU |
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In the given diagram, OP is the market determined price and OP, is the price fixed by

the government.

Price {in ¥)

Quantity (in Units)

(a) Identify if the diagram represents, price ceiling or price flooring.
(b) Discuss the likely behaviour of the market in the given condition.
OR

Suppose the demand and supply equations of a commodity X in a perfectly

competitive market are given by :
Qq=1700-2P
Q,=1300 + 3P

Calculate the value of equilibrium price and equilibrium quantity of the commodity X.

10. () 9T hl HHd A ol TG |

(@) afe a%g i Ha § 40% 61 Ihg B AT AT 150 AT 8 FRH 120 P78 & AT
T S X <l 61T <hl ShHd e oh T[UTeh <hi TUMT ht | 2,4)

(a) Define price elasticity of demand.

(b) If the price of a commodity rises by 40% and its quantity demanded falls from
150 units to 120 units, calculate coefficient of price elasticity of demand for the

commodity.
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11, “31MT9 % graWH Sfasa” 8 FI1 aredd 8 7 3T o g9 Yfdhat o AN & & fohegl af
R hl ST HIRT | 6

What is meant by “diminishing returns to a factor” ? Discuss any two reasons for the

operation of diminishing returns to a factor.

12. THIFURR STSIR 1 <fiH T formiwanati <t =mean =t | 6
YAl
frferfiaa < amem o qul wfaeifiar qen shTierehr ST § 3T v & -
() Torsharadt <kt g
(@) gl wpf
() feshi @A
Elaborate three main features of monopoly form of market.

OR

Distinguish between perfect competition and monopolistic competition on the basis

of following :
(a) Number of sellers
(b) Nature of product

(¢) Selling cost
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QUg — @ (THY 3redme)
SECTION - B (Macro Economics)

TATE 7S o fohegl a1 3TN ohl IooTd h |

Give any two examples of flow concept.

‘U e hl TTST ST |

Define the term ‘tax’.

T o fob Tk shreafer referawen ), 3 6 Uiy 2 5,000 HUS F &8 X T 6,000
HUS B ATl 2 | IROmHd:, ST =5 % 4,000 S F 9¢ L T 4,600 HUS Bl 11 & |
3a uftfefe § e o geft i ged BT | (WEt fehed o1 5= hifvw)

(%) 0.8
(@) 04
() 0.2
(") 0.6

Suppose in a hypothetical economy, the income rises from ¥ 5,000 crores to I 6,000
crores. As a result, the consumption expenditure rises from I 4,000 crores to ¥ 4,600
crores. Marginal propensity to consume in such a case would be . (Choose

the correct alternative)

@ 0.8
(b) 0.4
© 02
d 0.6

10



16.  STfires 91 o1 dread | R ?

AU
TSI E1E T AT AT 8 7
What is meant by primary deficit ?
OR

What is meant by fiscal deficit ?
17. TS AR 61 AT § 37 Freft gt TTUMET ht aue sl gRTid SHifsre | gredt ToET 6
T o Framon % fore foedl <) gfeeshiont o1 Seor@ | 3

AU

“Tehet BT 371G (GDP) Tereht <1 <6t Sreleramen o 3mfefeh Heamm i T T T8l & |7

o3 T o 1 IuYH RO Tfgd THAT 7YGT T R |

Define the problem of double counting in the computation of national income. State

any two approaches to correct the problem of double counting.

OR

“Gross Domestic Product (GDP) does not give us a clear indication of economic

welfare of a country.” Defend or refute the given statement with valid reason.
| 18, Ffq U Freierae - 3
s i i & e (AL = T 500 FS
Hiatd sr=d gaf (MPS) = 0.2

freferfaa < qea sma I -

(%) oo s (k)

(@) 3ifem 31 8 ufEd (AY)

If in an economy :

Change in initial Investments (Al) =% 500 crores
Marginal Propensity to Save (MPS) = 0.2

Find the values of the following :

(a) Investment multiplier (k)

(b) Change in final income (AY)
19, siTa et e SRR o wifer @ T S1 8 7 e # smen HIR | 4

How are capital receipts different from revenue receipts ? Discuss briefly.

581 11 P.T.0.



20. fg-ermreh Sreferaen § Amfees Wi Y Tel 1 Jeoi@ qT SATETT H |
| e

feu gu fom & KT fauet s weRia wtar & ¢ 39 aifeufa & wmam & oo et @
TSAh I IUHTUN hl Joild oht |

~

AD

(wmm =)

0 T
(3T 1 iR )
State and discuss the components of Aggregate Demand in a two sector economy.
OR

In the given figure, what does the gap ‘KT represent ? State any two fiscal measures
to correct the situation.

.
E K/ _---AD
g -~ A7
=] - I AD
= ____,.-"" |}
o
= E T
Eb |
& I
20 I
é"« I
— I

o I

45° 1 =
(- -

V|- Income

{Full Employment Level of Income)

et s ¥ fora -

Aaehifaen 3TaUe 1 w1 A 7 ? AaThifaes 3Taue shi uitfeta o gara % fora for-gl
Bl TSTh IS 3UT o1 Joehd i |

For Blind Candidates :

What is meant by deflationary gap ? State any two fiscal measures to correct the
situation of deflationary gap.
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01, o R AT 97 ) e 6 = 4
(%) Tuy 3qfd ht gorT | THT 7 37wk 2 |
(@) e (Ex-Ante) SId <h! goiqT § Jeamtid (Ex-Ante) Fe= a8l |

Discuss the working of the adjustment mechanism in the following situations :
(a) Aggregate demand is greater than Aggregate supply.

(b) Ex Ante Investments are lesser than Ex Ante Savings.

2. (@) “SImR 3tfees” i afrsT §RT | T8 “aTe] @d o fiis” | fohm yeR = g 2
(@) “IMiEHT SR ($) F Gohlace! TR ¥ (%) T G 8ol S 6 T T 74.48 &

T | — The Economic Times
IR e b1 & 8 W@ g, § 78 aRfedfa 1 9t smnd W aed aret g
Y ST A | 3,3)

(a) Define “Trade surplus”. How is it different from “Current account surplus” ?
(b) “Indian Rupee (F) plunged to all time low of ¥ 74.48 against the US Dollar ($)”.
— The Economic Times

In the light of the above report, discuss the impact of the situation on Indian

Imports.

23 (@) g S M, T 3 e 6 e o e i |
C (my vl R g, Er e i v 3 R swe Re s A Rt @) e

i fore=aT & | 2,4
Frea
TG Tureh <t afersT s | SfShT SoTeft Ht wrg ot eqar w1 et e | ggeht @
Y{tRT 8, TEATH IQTEL0T g THLT | 6
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(a) State any two components of M; measure of money supply.

(b) Elaborate any two instruments of Credit Control, as exercised by the Reserve
Bank of India.

OR

Define Credit Multiplier. What role does it play in determining the credit creation
power of the banking system ? Use a numerical illustration to explain.

24 @ TS AT o IMYR T THH ifq 30 == way Tl 6t ffda smer 1 am
i ke ﬁﬁ :

‘ Tf¥yr
EX R T
(i T H)
() | o 71,000
(i) | et Bey ot fomtor 10,000
(iil) | IThrl AT UM == ?
(iv) | cuem <kl i s ?

(v) | foewi @y e gied 3 1,000

(vi) | e T = 2,000
(vi)) | @y 1,200
(viii) | mrofedl @ S 15,000
(ix) | frew fafa 5,000
(x) | fsft stfom savm == 40,000
(xi) | ST ST ST IUHM 3,000
(xil) | yaTe ey 30,000

58/1/1 14 %



Given the following data, find the missing value of ‘Government Final

Consumption Expenditure’ and ‘Mixed Income of Self Employed’.

Amount
S. No. Particulars (in%
crores)
(1) National Income 71,000
(i1) Gross Domestic Capital Formation 10,000
(ii1)) | Government Final Consumption Expenditure ?
(iv) | Mixed Income of Self-Employed ?

v) Net Factor Income from Abroad 1,000
(vi) | Net Indirect Taxes 2,000
(vii) | Profits 1,200
(viii) | Wages and Salaries 15,000
(ix) | Net Exports 5,000

é (x) Private Final Consumption Expenditure 40,000
* (xi) | Consumption of Fixed Capital 3,000

.; (xii) | Operating Surplus 30,000
58/1/1 15 %EI
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